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W= Fdcos 6

Loosely speaking, work is a measure of “how productive” a force
is. Itis the energy transferred to/from an object via a force.

The most general definition is:

W= [F-ar
X

, , Is the rate at which work is done:




The dot (scalar) product is one of two ways to
multiply vectors. The result is a scalar.

A-B= ABcos0
and

A-B=AB +AB, +AB,

For example...

What is the angle between

F = (ZN)IA + (SN)} these two vectors?
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Rank graphs for
work done by
variable force,
F on particle
moving from
x=0tox =X,
from most
positive work
to most
negative work.




AU =W =— j F(x)dx

[

Where Ax = x,—x; and x,is measured relative
to the spring equilibrium point, x;.







